Most Authentic

ANSWER
KEY

of IIT-JEE

(Main)
2017

: Changing the world l for betteR...

INDORE | AHMEDABAD | SURAT | VADODARA | NAGPUR | NASHIK | Bl

e Winners always do it first.’

Scroll down to view answers
(irrespective of question paper set)

O



JEE (MAIN) 2017 PAPER / SOLUTION / 02.04.2017

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

10.

Ans.

(PAPER WITH SOLUTION) SET-D
JEE (MAIN) 2017

MATHEMATICS
IS IS the Set Of ..ottt solusion, then S is:
“4) A singleton
The following StAateMENt ..........oiuiieiitiit ittt eeenns is :
1 A tautology
If S(tanzx—cosxz):2cos2x+9, .................................................. of cos4x is:
7
4 _L
4) 5
FOr three @VENLS ..ottt e events occurs, is :
7
2 -
@) 16
Let @ beacompleX ..o.ooneiiiiii i e then k is equal to :
@ -z
Let KDe an inte@er . .ovviniit it et et is at the point:
1
4 2,—
@ (23]
Twenty Meters Of ... flower-bed, is :
3) 25
The area (IN SQUNMIES) ...vvtintitt ettt ettt et et e ettt aeeneanenns y< 1+\/;} is
5
(C) I
Ifthe Image Of ..o is equal to:
2 2J42
1
If for x e [O’ZJ’ ................................................................ then g(x) equals:
9
1)

1+9x°
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dy

If (2x+sinx)d—+(y+1)cosx=0 ................................................... is equal to:
X
1
1 -
1) 3
Let a vertical tOWET .....oviiei it tan f is equal to:
2
3 —
3 9
2 - . 2 .
If A= 41l then adj (3A +12A) is equal to :
2 51 63
84 72
For any three pOSItIVE .......ouitiitii e e Then :

2) b, c and a are in A.P.

x=2 y+1 z+7

The distance of the point ..............ccoviiiiiiiiiiiiiiene, , 1s:
2 -1 -1
10
2 —=
83
Let [, = J.tan” XAX, (7> 1) oo, is equal to :
1
2 =0
@ (1]
. 3).
The eccentricity 0f an .........ooiiiiiii e at (I,EJ is:
?2) 4x-2y=1
A hyperbola passes through the ... the point.
@ (2233 )
The function f:R— 11 f(x)= T s
: S | L s

A3 surjective but not injective

. cotx—cosx
lim ————— equals:
Hg (7t — 2x)

1
2 6
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Let =20+ =2k woeeeeeeeeeeeeeeeeeeeeeee,

2 2

Thenormalto ......oooveiiiiiiiiii ..

11
@ (33

If two different numbers ............cooveevvveee....

6

1) P

A man X has 7 friends, ..........ccooeiiiiiiiiii.

(1) 485

Thevalue of ..o

(4) 220 _210

A box contains 15 greenand .......................
12

(1) 5

Let a,b,c€R. oo

@ 330

The radius ofacircle, .............coooeviiiiniinnn,

3) 4(\/5 —1)

I, fOT @ POSIEIVE .neeie et

“4) 11

3z

dx
1+cosx

7
The integral I
i

2 2

is equal to:

..................................... is equal to :

............................. through the point:

10

....................... Zf(n) is equal to:

n=1

.................................. lines, y =|x| is:

<eeeeee. IS equal to:
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PHYSICS
31, A radioaCtive MUCICUS .....oiviiniit i tis given by :
Ans. (3) r=rioel3
log2
32,  The following obSErvations Were ..........c.cceeurenreireirerneeneeneeeennannennnn is closest to:
Ans. (3) 1.5%
33.  Ancelectron beam is accelerated .............cooiiiiiiiiiiiiii represented in :
108 ‘\min
Ans. (2) gV
34, Themoment of inertia of .............coiiiiiiiiiiiiieeea of inertia is minimum?
3
Ans. (2 —
(2) 5
35.  Aslender uniformrod ..ot with the vertical is:
Ans. (2) 3 sin@
21
36. C, and C, are specificheats .....................cooooo aandb is:
Ans. (4) a=14b
37. A copperball of mass 100 gm ...........cooviiviiiiiininninn.n, heat of copper = 0.1 cal/gm ° C
Ans. (3) 885°C
38. In amplitude modulation, sinusoidal ...............c.ccooiiiiiiiinna.. in the modulated wave?
Ans. (2) a,
39.  The temperature of an OPen rOOM .........covviiiiiriiiiieiiriiranneaeanaansn, n, —n, will be :
Ans. (1) -2.5x10%
40. InaYoung’sdoubleslit..........ooiiiiiiiiiiiiiii i wavelengths coincide is:
Ans. (3) 7.8 mm
41. A particle A of mass m and initial ... after the collision is:
A
Ans. (3) =)
;{’B
42. A magnetic needle of magnetic moment ..................co.eeeennnl 10 complete oscillations is:

Ans. (2) 6.65 s
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47.
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48.
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49.

Ans.

50.

Ans.

51.

Ans.

52.

Ans.

An electric dipole has a fixed dipole ...........cooviiiiiiiiiiii . The angle 6 is :
4) 60°
In a coil of resistance 100€, ........coiiiiiiiiiiiiii e, through the coil is :
4 250Wb
A time dependent fOrce F = 6f .......covuiieiiiiiiiiiiiiiie first 1 sec. will be:
2) 45173
Some energy 1eVels ..ot is given by:
1
1 r=—
1) 3
INthe @bOVE ... resistance is:
4)) 0A
A body is thrown vertically .............coooviiiiiiiiiii e velocity vs time?
T
0
t—>
“4)
A capacitance Of 2LUF 1S c.ouiiriii i achieve this is :
a1 32
In the IVen CIrCUIt ......o.ouiieiii i, capacitance C will be :
@4) CEx—2=
(r+n)
In a common emitter amplifier ...............cooeiiiiiiiiii voltages will be :
a 180°

Which of the following statements is false?
A3 In a balanced wheatstone bridge if the cell and the galvanometer are

exchanged, the null point is disturbed.

53.

Ans.

54.

Ans.

55.

A particle 1S €XECULING ....ovvietitit i et ee e eans particle will look like:
KE‘
01 T I T t—
AN ODbSEIrVer 1S MOVING ....vivviriiit it itetaetiereaeeeeneennnn, (speed of light =3x10°ms ™)

4 173 GHz

A man grows into a giant suchthat ........................ocoL . change by a factor of:
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S8.

Ans.

59.

Ans.

60.

Ans.

@2 9
When a current of SmA is passed .......coovviiiiiiiiii e range 0—10V is:
2) 1.985x10°Q

The variation of acceleration due to ............cooovviiiiiiiiiinninannn... (R = Earth’s radius):
s -
N

a) @) R

An external pressure P is .........oooiiiiiiiiiiiii should be raised by :

P
2 30K
A diverging lens with magnitude of focal ..................coiiii. Image formed is:

2) real and at a distance of 40 cm from convergent lens.

A bodyofmass m=107kg iS MOVING ............eveivueeiiieeiinien, , the value of k will be :
4 10 kgm™
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CHEMISTRY
61. 1 gram ofa carbonate (M,CO,) ..................oooeiiiiiii, M,CO;, in gmol™ is:
Ans. (1) 84.3
62.  Given G TO1(€) P CO, (&) ivviiiiiiiiiiiii, will be:
Ans. (2) ~74.8kJ mol™
63.  The freezing point of benzene ................coooiiiiiiiiiiii benzene will be:
Ans. (3) 94.6%
64.  The most abundant elements by ...........cooiviiiiiiiiiiiiiiiiiienn, by *H atoms is:

Ans. (2) 75 Kg

65. AU isequal to :
Ans. (2) Adiabatic work

66.  The formation of which of the following polymers involves hydrolysis reaction?
Ans. (4) Nylon 6

Y €11 1 B , the strongest reducing agent is:
Ans. (4) Cr

68.  The Tyndall effect is observed only when following conditions are satisfied:
Ans. (1) (b) and (d)

69.  In the following reactions, ZnO respectively acting at a/an:
Ans. (3) acid and base

70.  Which of the following compounds will behave as a reducing sugar in an aqueous KOH
solution?
HOH,C _O_ CH,OH

! OCOCH;

Ans. (4) OH
71.  The major product obtained in the following reaction is:

Ans. (1) CH,CH =CHC.H,

72.  Which of the following species is not paramagnetic?
Ans. (1) CcO
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Ans.

74.

Ans.

75.

Ans.

76.

Ans.

77.

Ans.

78.

Ans.

79.

Ans.

80.

Ans.

81.

Ans.

82.

Ans.

83.

Ans.

84.

Ans.

On treatment of 100 mL of ..., . The complex is:

@) [Co(H,0),Cl|CL.H,0
PK, ofaweakacid ...........cooiiii salt (AB) solution is:
1 69

The increasing order of the reactivity of the following halides for the S, 1 reaction is:

e} D <@ < 1

Both Jithuim and magnesium ............coovviiiiiiiiii i is incorrect is:

1 both from soluble bicarbonates.
The correct sequence of reagents for the following conversion will be:

@  [4g(NH,),| OH ,H" | CH,OH,CH,MgBr

The products obtained when chlorine gas reacts with cold and dilute aqueous NaOH are:
) Cl" and CIO”

Which of the following compounds ................cooviiiiinnnn. mono-nitration reaction?
NH,

(2)

3-Methyl=pent-2-ene on reaction.............coevuireirueennineeninnanennn for the product is:

3) Four

Two reactions R, and R, have ..............cooooiiiiiiiiii (R =8.314Jmol 'K _1)

3 4

Which of the following molecules is least resonance stabilized?

P ,/
(/ “f—

A
® o
The group having isoelectronic species is:

4  O",F ,Na',Mg™

The radius of the second Bohr .........................oeee.. €,=8.854185x10 kg 'm” A’

3) 2124
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87.

Ans.

88.

Ans.

89.

Ans.

90.

Ans.

The major product obtained in the following reaction is:
OH

CHO
@) COOH

Which of the following reactions is an example of a redox reaction?
“) XeF, + O, F, — XeF, + 0O,

A metal crystallises ina face ............coooiiiiiiiiiiiiiiii metallic crystal will be:

3 4
3 7

Sodium salt of an organic acid ..............coooiiiiiiiii of KMnO,. ‘X’ is:

3) Na,C,0,

A water sample has ppm ..o, drinking is/are :
2) only F'
Which of the following upon .............ccoviiiiiiiiiiiiiiieene . colour of bromine?
O
P

\
@ - w

END OF TEST PAPER
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